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B Bige 2NN 2Y(RELXNANL/NALTA)
el AIRIO| #=E 2532 29 (B9 @
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
301 YWBAD 24,400 28,693 ~4,293
09 BAAHI 24 14,400 18,693 ~4,298
= 0 &t 14,400 8,693 £4,293
SUHE CIXtel 8 BN DS
1,500,0008 *43| 6,000
ORUME OXe IAXY F&T L)
10,0008 60 *103] 6,000
O=#U2NHY =H S 22 2 29 D
S BAT 10,0002 *40 % *63] 2,400
12 JEEAl 10,000 10,000 0
=0 & 10,000 10,000 0
O2NFAUY NUFE T2 29 Ay
o 4 10,0002 *40% *253] 10,000
INEANHE 29 2el 412,324 467,388 A55,064
201 Yur2YHl 218,084 215,844 2,240
01 AtR2lY| 37,680 41,400 A3,720
=0 4t 37,680 41,400 ~3,720
ORMSANHE 2483 2 283 4
2,500,000 %204 2 *23] 10,000
ORMSXHE BLrgdl Ha
20,0008l *200CH 23] 8,000
ORMSANME L AS 1,230,008 +128 14,760
ORMSANHE LABHIHAEL Hbl 8
410,000% 128 4,920
02 ZZ2Y| 180, 404 174,444 5,960
=0 & 180,404 174,444 5,960
ORMSXHE MII&H |22 10,656
—®I HIAZEI RFH
1,380 x4002] Ef x33] 1,656
—®I| QA S22 1,500,0008 23] 3,000
—®IINE |X B 1,500,0008 *43] 6,000
ORMSNHE JIHEH S22 25,104
—3YI |NB UY 242
200,000 *3CH * 122 7,200
— S HIIBM 242 300,000% x35 900
—AYANBEE RFY
1,380% «1002] Ef «83l 1,104
—AYANE RXBE HY 242
700,0002 * 122 8,400
BB Fy 500,000 *13| +8CH 4,000
— BT Fy 700,000 *13] %504 3,500
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SH: 2oBALEY
HE: EAES +HURNTY SY(FELNANL/NALTAI)
Sl AISI0l #E=s 2532 29 (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
OZHSNLH FA K22 1,450
— &I, A%, JtA E3lHl 100,0002 x35 300
— a2 2l 150,0002 13l 150
—JtAsy |XB 500,0002! 23] 1,000
OZHSTMEH A2 Hae i
10,000,0002! * 13l 10,000
ORMSANHE HAHE SHFY R 2
2| 1,500,0008 *63] 9,000
ORMSANHE YHIHZ JATY 2K
22| 1,600,0008 *43| 6,400
O2HZY BRESMEH SN2 45,254
~EEIBENY RABE
209,900, 0002 7% 14,603
— DB KBl 122,300,000 «7% 8,561
— ALY STB2l 1,500,000 43 6,000
— SHOIEY SN2 1,500,000 43 6,000
—CCTV AIAE QX2 2,500,0008 *43] 10,000
O2IY YLSAUY 58 ABE 72,540
—QIEY B4 1,800,000% 15| &+122 21,600
—®M3 M L ABE
800,000 13| &1 x 122 9,600
—®3, WE(SX2) ®E3lH
500, 0002 *33] & 128 18,000
—HUgs @8aM
320,002 +13] & 128 3,840
—CCTV ®BEH 100,000 23] & +122 2,400
—CATV, 2X¥s S
49,0002 x253| &1 +122 14,700
—Jt2S Mo 4,000% *508| &1« 122 2,400
202 Oft 3,240 3,600 360
01 U0l 3,240 3,600 360
= 0 4t 3,240 3,600 360
OMEIHEZ ®A O L FMAS 2
24 At WIIOIY 60,0002 +3% #2233 1,080
ONSNMEH 2 =3 SHOI
60, 0002! +32 %22 +63] 2,160
206 THEHI 29,000 30,944 A1,944
01 MW 29,000 30,944 A1,944
= 0l 4t 29,000 30,944 A1,944
ORMSXNHE 29 HIE L I 7
800,0002! 43| 3,200
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SN

HE: EAES +HURNTY SY(FELNANL/NALTAI)
Sl AISI0l #E=s 2532 29 (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) HnsZ
ORRMSAME &I, JHEY 28 7
1,500,000 *43] 6,000
ORMEANHE HAHE YER2ME T
2 1,500,000 *104 15,000
OZRMSANHE MM HALT S
AE o BN 2Y 8,000% %2254 1,800
O=HUBINIY FRENLY L2E
J 1,000,0008 *33| 3,000
401 AN&HILRHY 162,000 200,000 38,000
01 Al&HI 162,000 200,000 38,000
=0l & 162,000 200,000 38,000
OWuty, 84, fAMa, 2500 A
& 2% 24 2 7,500,000 *44] 30,000
OLSsal =% H+EI DA
2,000, 0002 *10CH 20,000
ONgAAEY % &4 DA 25,000
—Xg SIEHT ¥n&|
5,000, 0002 *3CH 15,000
—RA g4 8 W
10,000, 0002 * 14! 10,000
O=% ®II&H DA L RNES JA
5,000, 0002 *33] 15,000
O2NZY FSAEH 24 ZM 32,000
—FUSA, CCTV, & S 24 JA
6,400, 0008 *53] 32,000
O HE SSAAY B2 ZA 20,000
MY HB B4 DA
10,000, 0002 27 £ 20,000
ORZY RHAHY B2 A 20,000
— s AP BX BA 2,500,0002 «80 £ 20,000
EHURNIY 2|8 25 210,000 320,000 £110,000
201 Qe 210,000 320,000 £110,000
03 A2 210,000 240,000 £30,000
=0 & 210,000 240,000 230,000
Oz&L2ol o S¥ 23T20 29 210,000
—HH % B 35,000, 000! *23] 70,000
—HAFE H2ABA  35,000,0008 *23] 70,000
— 2 EDJABEER HIAEH 2H
35,000, 000! *23] 70,000
= 2o 110,000 220,000 £110,000
201 Qw2 110,000 220,000 A110,000
03 A2l 110,000 220,000 A 110,000

- 1096 -




SH: 2oBALEY
B Bige 2NN 2Y(RELXNANL/NALTA)
9l AIRIO| BE=E 25T 29 (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
= Ofl &F 110,000 220,000 A 110,000
O=== Z284ZHE 2Z 30,000,000 =14 30,000
OO0j2l0l F2t SET, MPZ2IY 2
& 50,000,000& =14l 50,000
ORXNZE 2 2¢ 30,000,000& =14l 30,000
IS 3 HAE 180,000 230,000 A 50,000
201  LEr2dEH| 180,000 230,000 A 50,000
03 A2 180,000 230,000 A 50,000
= 0fl & 180,000 230,000 A 50,000
Ofall in 282K E 29
35,000,000& *23l 70,000
OMg=zz0d 2¢ 50,000,000& =14 50,000
OFZ, 252 2HZ2IY 2
60,000,000& * 14! 60,000
SIE Ol E & 340,000 290,000 50,000
201  LEL2YH 50,000 0 50,000
03 #A2EHI 50,000 0 50,000
= Ofl & 50,000 0 50,000
OXMHAEY 2 50,000,000& =14l 50,000
401 A &EHIZLR0Y 290,000 290,000 0
04 ALt AIEHI 290,000 290,000 0
= 0fl & 290,000 290,000 0
OUE0EA AL 8% L 2
90,000,000& =14 290,000
IDIEMHAE & 250,000 0 250,000
201  LEL2H] 250,000 0 250,000
03 A2 250,000 0 250,000
= 0fl & 250,000 0 250,000
ODICIOIOES £ ¥ 29
200,000,000& =14l 200,000
Oalf s¢=Z=208 2 50,000,000 14 50,000
2020 =& CHE A A B E 3 30,000 0 30,000
201  LEr2dH 30,000 0 30,000
01 AFR2Zeldl 30,000 0 30,000
= Ofl &F 30,000 0 30,000
02020 & OHH A M B2 3| IH A 30,000
—HAEHHI €9 (Y B
30,000,000 =14l 30,000
=™ ILE R JHXIE Ot 98,000 0 98,000
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SN
X ZH -
L=

el

o)
{0
]
{0

SH-EH. O (AN) - NRANY - B o) ) HDE2
207 - OH & H| 98,000 0 98,000
01 =9 98,000 0 98,000
= 0l & 98,000 0 98,000
OJIXIE It A2 E2HH| 98,000, 0003 *14] 98,000
d3 EES50 HAE M= 290,000 0 290,000
201  LEt2I| 290,000 0 290,000
03 A2 290,000 0 290,000
= 0l & 290,000 0 290,000
O¥&d EEEN HAE 29
290,000,000 14! 290,000
StYRMEHE 2322 143,500 0 143,500
307 gIztold 140,000 0 140,000
05 CIZtAEZ 140,000 0 140,000
= Ol &F 140,000 0 140,000
OStYMENH 22 L AIEE 22l
140,000, 0003 *14] 140,000
405  AHaHFSHI 3,500 0 3,500
01 K& SEFHSHI 3,500 0 3,500
= 0l & 3,500 0 3,500
OstdNEdH NE=8 +4
3,500,000 = 1CH 3,500
HANMAR A (YNDDHE /YU E) 699,614 794,140 A94,526
HAAST A E M| EHOLA 699,614 794,140 AN 94,526
StEEA HAEY 464,000 430,340 33,660
201  Etg| 368,500 370,340 A1,840
01 At 2eltl 18,500 20,340 A 1,840
= 0l & 18,500 20,340 A1,840
OstE & HAEY 18,500
— MANY 500,000 x7H x23| 7,000
— &% 5 M 100, 000& *25JH 2,500
— OHAHI 8,000& x5 «20 4! 800
— 2 XA 8,200,000 *14] 8,200
03 AI2ZHI 350,000 350,000 0
= Ol & 350,000 350,000 0
O=FZI L &I HaAxH XAZ(61
I A) 206,500,000 14! 206,500
O AL THEH A Q12| 47,100,000& 14! 47,100
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SN 2NFASS D
Mo HANMLYF(UVDITHY /L)
CHel: F RO T Al | B0t ECHE
x s . Of &t o8 & & 0 A o -
SN ZH - (3H) - HRAY - BE2 (Z= o) (713 o) HwE2Z
PEE RN EEE
22,000,0002 *14! 22,000
O 29 & B8 41,900,000%! * 14} 41,900
OMSAl U Al&HA 23,000,000+ 14! 23,000
OFOIZIF BA0I0H| 2R3
5,000, 0008 *14! 5,000
OXNE 82Xl 2 |1z
4,500,0008! 14! 4,500
301 LuEa3 45,500 60,000 A 14,500
12 JEEa2 45,500 60,000 A 14,500
=204 45,500 60,000 A 14,500
OB HAEZE NS
45,500,000 * 14! 45,500
401 A&H L2 50,000 0 50,000
01 Al&H 50,000 0 50,000
= 0f & 50,000 0 50,000
ORX X4 L AlZ2 XA
25,000,0002 *14! 25,000
OFINZA 2 =Z 0|
25,000,0002 *14! 25,000
=HA YR S= 15,370 17,000 A 1,630
201 Ygr2y| 6,370 7,000 £630
01 AtR @l 6,370 7,000 ~630
=0l & 6,370 7,000 630
Oz&A HLZY S= 6,370
-S23 2 YBHHME 200,0002 2074 4,000
- HLHY SER AW L =22 M A
x 2,370,0008! 14! 2,370
206 TRl 9,000 10,000 A1,000
o1 Mzl 9,000 10,000 A1,000
204 9,000 10,000 A1,000
Oz=&A HyHA S= 9,000
~SEX W2 XY 450,0008! *2004 A 9,000
SAE FANNI| A 146,368 176,800 A30,432
201 L2y 4,368 4,800 A 432
01 Atz 4,368 4,800 432
=04 4,368 4,800 432
OZAz stEFe X4 2 22 4,368
—HOUX, ZAE S E22 M
568, 0002 14! 568
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SA: 2NFAR

S Reages
ZH - 2 TH A
X
S

FH(UUTRUE/YHAT)
SHol: MO\ T AIE M| B0j CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
—f3As Mzl 1,000, 000& *13| 1,000
—f3s F&8L =2 70,0003 x20Z *23| 2,800
401 A&HIZ=20bI 20,000 50,000 A 30,000
01 Al&UI 20,000 50,000 230,000
= 0l & 20,000 50,000 A 30,000
OJlgtx=d & AHy=ER 20,000, 0003 *14] 20,000
402 QIZ2HXt=0l M 122,000 122,000 0
01 Q2T 2AMEEZ(RAMHA) 122,000 122,000 0
= 0l & 122,000 122,000 0
OstgdEa =4 4,000,000& =137 &~ 52,000
OstEEA AtZ2tel 2,000, 000& =357 2~ 70,000
IEAZ2 22 AW (RHS) 1| 73,876 60,000 13,876
201 eI 48,876 40,000 8,876
01 At 2teltl 48,876 40,000 8,876
= 0l & 48,876 40,000 8,876
ORHS g2 & 2ZTAFZ 100,000 *300Al 2+ 30,000
2N =2 ME 200,000& 23] 400
ORHS dl&2 & |A1s 2,495,200& x53 12,476
OZ2 WH Mz 2,000,000& *33| 6,000
206 M=l 15,000 20,000 A5,000
01 & HIl 15,000 20,000 A5,000
= 0l & 15,000 20,000 A5,000
ORHS dlg2 & =4l 15,000, 000& % 13| 15,000
301 LerEA3 10,000 0 10,000
07 A=At 10,000 0 10,000
= 0l & 10,000 0 10,000
Og2A0Es AL (ZAZ) =5
5,000,000 *23| 10,000
HY2IZH (ZIOIEJA2Z D) (IIEH/DIE) 1,477,998 1,520,733 N42,735
o5 29Il 260,864 254,543 6,321
ol 2E | 260,864 254,543 6,321
101 ol24d| 260,864 254,543 6,321
01 2=+ 246,231 251,461 A 5,230
= 0l & 246,231 251,461 25,230
ONZE 224g
10,299 x22H 30 Al 2t 128 81,569
Osgzefsd 82,786 x17H 117 164,662
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SH 2NFASAD
B #E2AAY (RNFASSD)(IEH/IIE)
chol: ol (sl &2
z 5 - Of Ak o8 i &0 Ao -
SH-FHY .S (3) - HRAY - BE= (ZE o) (513 01) CmE=FT
02 JIet&E = 14,633 3,082 11,551
= Ofl &F 14,633 3,082 11,551
OAMZte 2Z2x=Y 8,812& 2 «30AlI2t+x122 6,345
Osgzfs% 70,8363 x1H =117 8,288
Jl=&l 1,217,134 1,266, 190 A 49,056
JlE&l 1,217,134 1,266,190 A 49,056
201  LEr2gH 1,146,024 1,194,050 A 48,026
01 A2l 97,554 122,732 A25,178
= 0fl &F 97,554 122,732 A25,178
OJIZMEEEHI 30,0003 23 128 8,280
OF2ZZE H=s 2 150,000 »1H »23| 300
OXNd =& ¢ 60,0003 1 »365& 21,900
OANSY 29 HAL8E 7Y
50,000& *4Z *102] 2,000
OANSY 29 BRES 72
60,000 «12& 720
Oodax)| MEZ 40,000 «5CH 128 2,400
O=AMII EH 72 300,000 «2CH *4 S x53] 12,000
O=AMII E& WA 400,000 «2CH x4 S %23] 6,400
o=Zgd Ed #¢ 150, 000& »5CH x53] 3,750
O=Zgy &g uwn 300, 000& +6CH 22 3,600
O=AMEX 7L (A3) 27,000 »3L A 128 gr2
OSAESX 2L (A4) 22,0002 148t A %128 3,696
O=AMEX 72 (B5) 21,0003 »3% A 128 756
O Ae 22 3
8,000 «13H 20 « 128 24,960
OMEA 2F TAHA7Y 100,000 «4E5+122 4,800
OzzpEe S22 25 2=
,000& *173|x128 1,020
02 22224l 1,048,470 1,071,318 A22,848
= 0l & 1,048,470 1,071,318 A 22,848
Oz@RRIEA IR
41,000,000& «12& 492,000
O2HU2NHR Y5H4E23
45,000,000& x12& 540,000
O HUBNIY SANARS
120,000 =123 1,440
OxHUBINFR SFWERSLS
900,000& *13| 900
OzzpaEY IERYRLS
,130,000& =13l 8,130
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2EA: 2O 29
M. HESHBH(2IHF A2 W)(JIEH/IIE
@2 Jl2&bl (chg:®
2 s . 01 &t o B S 0] A o -
EH-Z3H .42 (3H) - HEMNY - BES (Z= o) (713 o) Hnsz
O=do=zIIEA 2SI 722l
150,000 »2CH x12& 3,600
O=&UIAIEA 2EXNE RSU
100,000 =20« 123 2,400
202 Ol 57,600 60,000 A2,400
01 =2LHOA Y 57,600 60,000 22,400
= 0ff &F 57,600 60,000 A 2,400
OJl2ges8 &0l
20,000& »24H «10d x12& 57,600
203 YR =F=&XY| 13,510 12,140 1,370
01 JI2A2IHR=&Y| 3,900 3,900 0
= 0l &F 3,900 3,900 0
O&=&ot2te| dEf A E 3,900,000& 1 3,900
02 HRJIAMHERE=EY| 4,690 3,440 1,250
= 0l & 4,690 3,440 1,250
OXAXNSHAS AIIEER AH|
4,690,000 =14 4,690
04 2M2IIRF=LAY| 4,920 4,800 120
= 0ff &F 4,920 4,800 120
ORNM2Y A28l 410,000& *12& 4,920
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